ount Installation Guide



"Packing Parts List

v CEILING ADAPTER v U-PLATE

v PIPE v PIPE-BASE

v PROJECTOR ADAPTER v V-ADJUST BOLT
v WASHERx1 v M4 SCREW x 10

TUBE

H - ADJUST ADAPTER

NUT x7

BOLT x 6 (TUBE BOLT x 2, L — ADJUST]
BOLT x 2, PIPE BOLT x 2)

NSNS S

Names of Parts

P U - PLATE
» CEILING ADAPTER

4
= » TUBE
g P TUBEBOLTx2
@
/@ | wg——————p L-ADJUSTBOLT x2
Nut
» pipE
a
@ 4 ‘
§ g PIPEBOLT x 2
a
. P H - ADJUST ADAPTER
A V — ADJUST BOLT

PROJECTOR ADAPTER




Diagonal measurement

Diagonal measurement

Throw Distance Throw Distance
Minimum zoom Maxjmum zoom Minimum zoom [Maximum zoom

feet inches feet inches feet inches meters cm meters cm meters cm
4 48 2.29 27.5 2.80 33.6 1 100 0.57 57.4 0.70 70.0
6 72 3.44 41.3 4.20 50.4 1.5 150 0.86 86.0 1.05 105.0
8 96 4.59 55.1 5.60 67.2 2 200 1.15 114.7 1.40 140.0
10 120 5.74 68.8 7.00 84.0 2.5 250 1.43 143.4 1.75 179.4

12 144 6.88 82.6 8.40 100.8 3 300 1.72 172.1 2.10 209.9
14 168 8.03 96.4 9.80 117.6 3.5 350 2.01 200.8 2.45 244.9
16 192 9.18 110.1 11.20 134.4 4 400 2.29 229.4 2.80 279.9
18 216 10.32 123.9 12.60° 151.2 4.5 450 2.58 258.1 3.15 314.9
20 240 11.47 137.7 14.00 167.9 5 500 2.87 286.8 3.50 349.9
22 264 12.62 151.4 15.39 184.7 5.5 550 3.15 315.5 3.85 384.9
24 288 13.77 165.2 16.79 201.5 6 600 3.44 344.1 4.20 419.9
26 312 1491 179.0 18.19 218.3 6.5 650 3.37 372.8 4.55 454.9
28 336 16.06 192.7 19.59 235.1 7 700 4.02 401.5 4.90 489.8
30 360 17.21 206.5 20.99 251.9 7.5 750 4.30 430.2 5.25 524.8
32 384 18.35 220.3 22.39 268.7 8 800 4.59 458.9 5.60 559.8

Diagonal measurement

Diagonal measurement

Throw Distance Throw Distance
Minimum zoom |Maximum zoom Minimum zoom [Maximum zoom
feet inches feet inches feet inches meters cm meters cm meters cm
4 48 1.96 23.5 2.40 28.7 1 100 0.49 48.9 0.60 59.9
6 72 2.93 35.2 3.59 43.1 1.5 150 0.73 73.4 0.90 89.8
8 96 391 47.0 4.79 57.5 2 200 0.98 97.8 1.20 119.8
10 120 4.89 58.7 5.99 71.9 2.5 250 1.22 122.3 1.50 149.7
12 144 5.87 70.4 7.19 86.2 3 300 1.47 146.7 1.80 179.7
14 168 6.85 82.2 8.39 100.6 3.5 350 1.71 171.2 2.10 209.6
16 192 7.83 93.9 9.58 115.0 4 400 1.96 195.7 2.40 239.6
18 216 8.80 105.7 10.78 129.4 4.5 450 2.20 220.1 2.70 269.5
20 240 9.78 117.4 11.98 143.7 5 500 2.45 244.6 2.99 299.5
22 264 10.76 129.1 13.18 158.1 5.5 550 2.69 269.0 3.29 329.4
24 288 11.74 140.9 14.37 172.5 6 600 2.93 293.5 3.59 359.4
26 312 12.72 152.6 15.57 186.9 6.5 650 3.18 317.9 3.89 389.3
28 336 13.70 164.3 16.77 201.2 7 700 3.42 342.4 4.19 419.3
30 360 14.67 176.1 17.97 215.6 7.5 750 3.67 366.8 4.49 449.2
32 384 15.65 187.8 19.17 230.0 8 800 391 391.3 4.79 479.1

Projector Installation and Throw Distance Chart 5. =




XGA 4:3 - PB2240/PB6210/PB7210/PB7230/PB8240/PB8250/PB826(

Screen Size
Screen Height Min Throw Max Throw
Dia (in) |Screen Width (in) (in) Distance (in) Distance (in) OffSet (in)

30 24 18 39 48 0.9
40 32 24 52 64 1.2
50 40 30 66 80 15
60 48 36 79 96 1.8
70 56 42 92 112 2.1
80 64 48 105 129 2.4
90 72 54 118 145 2.7
100 80 60 131 161 3

120 96 72 157 193 3.6
125 100 75 164 201 3.8
150 120 90 197 241 4.5
175 140 105 230 281 5.3
180 144 108 236 289 5.4
200 160 120 262 321 6

225 180 135 295 362 6.8
250 200 150 328 402 7.5
275 220 165 361 442 8.3
300 240 180 394 482 9




eInstalling a Projector with The Ceiling Bracket

Overview
B Diagram of completed installation B Ceiling Mount Device

Tube bolt

Swivel angle adjustment screws

Tilt angle adjustment screw
(There is also a screw on
@ the opposite side.)

Projector mounting screws
(There are three screws
for projector mounting.)

Installation Procedure
STEP A Insert the U-PLATE into the CEILING ADAPTER, and tighten two M4 screws (from the bottom) into

the screw holes. Then attach the top part to the ceiling.

M4 iscrews é

Ceiling mount screws

@ (not included)

Installing a Projector with the Ceiling BraCkve"'t‘{f' 7 - ’




STEP E Assemble BASS-ASSEMBLY and PROJECTOR with 4 M4 screws.

Assemble BASE-ASSEMBLY and the ceiling mount device with 2 sets of bolts and nuts (PIPE BOLT
STEP F Sets)_

*Two people are required for the completion of this step.

Ceiling mount bracket

PIPE BOLT

BASE-ASSEMBLY

Installation finished.

Installing a Projector with the Ceiling B.ragike




Horizontal Angle Adjustment

1. Loosen the two sets of screws connecting the PIPE-BASE and the
H-ADJUST ADAPTER.

2.  Adjust the horizontal angle so that it is correct for the orientation of the
screen.

3.  Re-tighten the two sets of screws connecting the PIPE-BASE and the
H-ADJUST ADAPTER.

4.  The swivel angle can be set within a range of negative to positive 30

degrees.

Vertical Angle Adjustment
1.

Loosen the two sets of screws connecting the H-ADJUST ADAPTER and

the PROJECTOR ADAPTER.

2. Adjust the vertical angle to the correct one for the orientation of the
screen.

3.  Re-tighten the 2 sets of screws connecting the H-ADJUST ADAPTER and
the PROJECTOR ADAPTER.

4. Thetilt angle can be adjusted in a range between —5 and +15 degrees.

o 0lo o
@@ﬂ@@

Adjusting the Ceiling Bracket = 11





